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— « The Block D shown in the following figure moves with a speed of 3 m/s. Determine
the angular velocities of links BD and AB, and the velocity of point B at the

instant shown. (20%)
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= ~The 100kg block A is released from rest. If the mass of the pulleys and the
cord is neglected. Determine the speed of the 20-kg block B in 2s. (20%)
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= + The frame shown supports part of the roof of a small building. Knowing that
the tension in the cable is 150kN, determine the reaction at the fixed end E.

(20%)
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m ~ Three loads are applied to a beam as shown in the following figure. The beam
is supported by a roller at A and by a pin at B. Neglecting the weight of the

beam, determine the reactions at A and B. (20%)
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& ~ A cord is wrapped around a wheel which is initially at rest as shown in the
following figure. If a force is applied to the cord and gives it an acceleration
a=4t(m/s?), where t is in seconds, (a) Compute the angular velocity of the wheel
as a function of time, (b) Compute the angular position ®(t) of line OP as a
function of time in radians. (20%)



